
Tutorial 2 – Problem 6 
 

Consider the following binary numbers. Convert each of them to its equivalent 

decimal number. Let us show our work, i.e., show how we get to our answer. 

a. 100100112 

b. 000011002 

c. 111100112 

d. 010100102 

e. 011101102 

Answer (showing work):  
 

binary decimal 

a. 100100112 1 x 20 = 1 
1 x 21 = 2 
0 x 22 = 0 
0 x 23 = 0 
1 x 24 = 16 
0 x 25 = 0 
0 x 26 = 0 
1 x 27 = 128 

Answer:  14710 
 

b. 000011002 Answer:  1210 
 

c. 111100112 Answer:  24310 
 

d. 010100102 Answer:  8210 
 

e. 011101102 Answer:  11810 
 

 
 
 


